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$spring-mass block simulation
% by c¢.s. bauer
Ty november 20, 2001
time=0;
tstop=input (' enter tstop now ');
m=input (' enter value of m now ');
k= input (' enter value of k now ');
b=input (' enter value of b now ") ; \
dt=input (' enter value of time step now ;A
. pos=input (' enter starting position now '); |
vel=input (' enter starting velocity now ');
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i=1;

while time < tstop
£ (1) = time;

e xdot (1)= vel;
x(i)=pos;
. ace= - (k/m) *pos - (b/m) *vel;

x2dot (i) =acc;
vel = vel + acc*dt;
pos= pos + vel*dt;
time=time+dt;
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